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Aggregate replacement ratio
The indicator is calculated as a ratio of the median gross pension of persons in the age group 65 - 74 to the median gross earnings of persons in the age group 50 - 59. The coefficient reflects the level of pensions of retired people in relation to the labour wages of people in the decade before retirement. The purpose of pensions is to provide an adequate level of income for the people who are already over the working age.
In 2015 the aggregate replacement ratio was 40.9%, as for men it was higher (47.1%) than for women (38.1%). In 2015 in comparison with 2006 the ratio increased by 3.9 percentage points. For the males the ratio increased by 6.1 p.p. and for females the ratio increased by 2.1 percentage points.
Figure 1. Aggregate replacement ratio
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